
Juarez Life Science Punnett Squares: End of Unit w·orksheet 

Punnett Square \Vorksheet-Human Characteristics 

Directions: Complete the following Ptmnett Squares. Be sure that you include the ratios of the 
genotypes (andJb~ wqyqsus.edJQ®Scribe thq~e alleles) aridphenotypes of the characteristics. 
Scoring-:Each'problemis Worth 3points; lpofut each for·tlie genotypes.1point for the 
phenotypes. and !point fodhe ptni11ettsquare.Half points may be earned for paitially correct 
infom1ation,so don;t leave auyblanks! 

l. B= Brown eyes b= blue eyes Mom= Bb Dad= BB 
What are the eye color possibilities if they chose to have children? 

Genotypes Phenotypes 

2. Curly hair is recessive, and straight hair is dominant. A woman with curly hair marries a man 
who is homozygous dominant for straight hair. Predict the outcomes for their children. 

Genotypes Phenotypes 

3. Black hairis hom:ozygousdo111inant.'Browuhair is heterozygous.Blonde hair is 
homozygous recessive. (This is an example of incomplete dominance.) A woman with brmvu 
hair marries a man with brown hair. What are the possible outcomes for their kids? 

Genotypes Phenotypes 
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4. Attachedea:rlobesaredontl11anto:verfree:hangittg:eatlobas. Complete the Punnett Square 
for the following individuals: Mom=BB andDad=bb 

Genotypes Phenotypes 

5. h1complete dominance problem: T=tall (5'11"-6'2")~ Tt=meclium height (5'4"-5' 10'') 
Mom= 5'5" t=shoit (5'3"' or smaller) 
Dad= 6'0'' What are the possible height outcomes of their children? 

Genotypes Phenotypes 

6. F~cklesarerepessive; Npfrecklesare dominatit. 
Mon1=hetero,zygousDad=:hornozygoi:is Possible outcomes for kids?recessive 

Genotypes Phenotypes 


